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DO NOT OPEN THE SEAL OF THE QUESTION BOOKLET UNTIL YOU AREASKED T0 DO s0. |

Question Booklet Series Code B Question Book Series No : 1 3 ﬁ !} ‘;3

Time Allowed : 150 minutes - Total Questions : 150 Maximum marks : 150

There shall be negative marking @ 0.25 mark per question for wrong / multiple answers.

Before answering any question, check the Booklet that it contains 31 pages and no page is missing, mutilated
or repeated. In case of defect, get it replaced immediately.

INSTRUCTIONS FOR CANDIDATES

) 1. Fill in the OMR answer sheet, mentioning the Roll No. and "bther data as required. in the place(s)

" indicated therein, darken the appropriate circles in blue or black ball point pen only. Do not write any
name / surname or put any symbol, sign, slogan, prayer or any mark or identification in the OMR
answer sheet. Do not tamper with the bar-code or any other portion of the OMR answer sheet. Any
such act is liable to render the answer sheet unfit for evaluation.

2. Correcting fluid, eraser, blade, books, textual material, script notes / loose paper, calculator, document,
slide rules, log tables / electronic watches, smart watch, cell phone, pager, other electrical/ electronic P |
devices etc, are not allowed inside the examination hall. In case the candidate is found to be in r !;1
possession of any of the above, he / she shall be expelled from the examination without any / o
| ! 'u ]

enquiry as to whether the same was / were used by the candidate or not.

. A machine will read the coded information furnished by you in the OMR Answer Sheet. If the information 1
so furnished by you are incomplete or different from what you have given in the application form, o

|
[

you shall be awarded Zero mark.

Answer must be given by completely darkening one of the four circles / ovals representing the most
appropriate answer given on the Answer Sheet corresponding to the relevant question. For Answers
not shown by properly darkening in black / blue ball point pen, no marks shall be awarded.

No Rough work should be done on the OMR Answer Sheet, Space for rough work has been

provided in the Question Booklet itself. | ,
candidates must ensure to fold the OMR Answer Sheet at the perforation

6. After the examination is over,
and separate the Original Copy and Candidate’s Copy of the Two _Part OMR Answer Sheet in the
presence of the Invigilator and handover the Original Copy to the Invigilator. The Candidate’s Copy of
the OMR Answer sheet may be taken by the candidate, Failure to hand over the original copy of
the OMR Answer Sheet to the Invigilator before leaving the examination hall / room shall

make the candidate liable for penal action.
pective question-booklet after the examination is over.

| 7. Candidates may take with them the res
8 Failuré to compl]} with or violation of any of the above instructions shall be considered as adopting
‘ d proper shall be taken. :

unfair means and action as deeme
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Arithmetic
I.  Evaliate: [(18 - 6) = 4] + [712 - 12 %3
of 2]
(a) 768
(b) 572
() 275
d 752 _
2~ Total number of divisors of 10500 except 1
and itself is :
(a) 48
(b) 46
() 42 .
(d) None of these
3« What is the least possible number, which
when divided by 2, 3, 4, 5, 6, leaves the
remainders 1, 2, 3, 4, 5, respectively ?
(@ 60
(b) 61
(c) 59
d) 69
4 The fraction equivalent of the recurring
decimal 5. 8737373...... is:
173
(@ 5 900
' 873
(®)  Sg
() 5{2
(d) None of these -
3. Which one is highest among the following
fractions %%%% ?
1
(@) 2
2
(b)) 5
2
(©) 3
@ 3
6.  Inthe below given expression, what is the
e value of ‘7’ "
an* xan'=an
(@ 229
(b) 275
(c) 4.25
(d 4.5
ND - 2B/34
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(@ 991
(b) 899
(c) 998
(d 989

R 9Q° Jeq QIQ 696w, 08O 0@ QAqIa
Jaf1ae goea Qi 6268 7
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GRG0 agira fuQ 60dE QTN 2I6e ?

Sy
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(a) :
.4

(b) .
2

(© -

d ¥

(d) ~

dqea GuIRIRYS 2deyGeq ‘7’
660 ? i

(€9)™* x (29)" = (e0)"

(@ 9.9¢
(b)) .98
() ¥.9%
d %8
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Number of zeros at the end of the
expression .

10 + 100 + 1000 +

10000000000 is: YT *
(@ 1

() 10

(¢) 55

(d) None of these

Find the unit digit of the :
77 x 88 + 66 x Ssg; ; € expression

(@ 7
(®) 6
() 5
@ o0

888 x 888 x 888 — 222 x 222 x 222 _

888 x 888 + 888 x 222 + 222 x 222 -3
(@ 1110
(b) 666
(c) 4
(d 16
E_Q. Find the remainder when (1719 x
1721 % 1723 % 1725 x 1727 ) is divided by
18:
(a 17
(b) 27
(c) 9
d 15
11.  Theaverage age of Sumit’s family consisting
' of 5 members, 3 years ago, was 35 years.
One year ago, a new baby was born in the
family. Three years hence, the average age
of the family will be :
(@) 36 years
(b) 343 years
(e) 35% years
(d) None of these
12. A milkman has 20 litres of milk. He mixes 5
litres of water, which is freely available, in
20 litres of pure milk. If the cost of pure
milk is Rs 18 per litre, then the profit of the
milkman , when he sells all the mixture at
cost price is :
(a) - 20%
(b) 25%
(c) 5%
(d) 33.33%
ND - 2B/34
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(a) ¢
(b) o
(c) #8
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@ @
b 2
(c) *#
d o
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(@) 90%

(b) 98x%

() 8%

(d) ey
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A; B, C are in the ratio

he i s of 4
The income 2 1itho

12 : 9 : 7 and their spending are i.n t.h
15:9: 8 If A saves 25% of his income;

then, what is the ratio of savings of A, B

_andC?

(@ 11:13:18
(b) 15:18:11

() 16:17:21

(d 13:16:11

Due to fall in manpower, the production in a

factory decreases by 60 %. By what percent
should the working hours be increased, to

‘restore the original production in the

factory ?

(@) 40%
(b) 66.66%
(©) 150%

@

A man sells two wrist watéhes, one at a
profit of 10% and the other at a loss of 10%.
But the selling price of each watch is Rs

120%

- 200. What is the percentage of profit or loss ?
(2

- 1% profit
1% loss
2% profit
2% loss

(b)
(c)
@

Compound and Simple interest on a certain
sum, at certain rate of interest,after two

years is 220 and 200 respectively. What is

- the Principal sum ?

(@)
(b)
(©
(@

A is twice as good a workman as B, and

Rs 2,200
Rs 2,000
Rs 500 .
Rs 1,000

* therefore, able to finish a piece of work in

30 days less than B. In how many days, they
can complete the whole work, working
together ?

(a) 30days
(b) 15 days
(c) 20 days
(d) 40 days

(4)

14.

15.

16.

17.

A, B,CQ aig e9 : ¢ : © UFAIGER 23
99" canIeeq S¢ €8 : ¢ : [ URAIeGQ
24193 A QIR 219 98% A8E ¥6Q, 6069
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(@ ee:eM: el
(b) e8:er:ee
(c) eH:t®:9¢
(d) em:e9:ee

FIee AR 29 691¢ FIRHIFIER AYILR ok
12 QINEIN | 6069, AASIFIER 7R VYR
greeaia @89l 9I9, Q1Y A0 6960 gae
98 eaudel aee ?

(@) ¥ox%
(b) 99.99%
(c) e8o%
(d)  e90%

—~ e

964 48 9aF 2T G 0T, 601G o
RNER 19° AQYT eo% BT6a | Gg gf
291 88 R4 900 67 62T | AR 2 BGQ
gose 660 ?

@ exaw
(b) e%a@
(c) 9% QW
d) 9%a6

99 98 96 588 Qu 2Iaea ue G fRue
BRI ORTE IS° QAR QA AAIGER 990
NG® 900 ORI UEE | 6O6R FRUR 6RO
anl ? - '

(@) 9900 ¢
(b) 9000 e
(c) %oogql

(d) eooogq

A, B 220168 9agd e gfie Zee vo°
664, B 0IQ Mo @@ erga 9o QIdy cag
QAP AV | 6069, AT 6QARIER 915 QIel
@99, 6260 IR AU6R 6arIeR gal Qin
669 QAAIRES ?

(a) <o Qg
(b) e8de
(c) 90 @g
(d) %o dg
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A8. The distance between office and home of
Uma is 80km. One day she was late by
1 hour than the normal time to leave for the
office, so, she increased her speed by 4km/hr.
Thus she reached to office at the normal
time. What is the changed speed of Uma ?
(a) 20km/hr
* (b) . 16km/hr
(c) 40km/hr
(d) 10km/hr
1 2 !?etween 2’0 clock and 3’0 clock, at what
time , the two hands of a clock coincide ?
. (@ 2:10:36
(b)- 2:10:45
(e) 2:10:54
(d 2:10:56
20. Find the cost of carpeting a room, 17m long
«  and 9 m wide, with a carpet 60cm broad at
40 paisa per metre of length.
(@ Rs110
(b) Rs102
(c) Rs100
(d Rsli2
21.  If the sum of the first 14 terms of an AP’is
i 1050 and its first term is 10, then, find the
20th term from the following ? '
(@ 170
(b) 180
(c) 190
(d 200
22. . Two dice are thrown. What is the probability
™ that the sum of numbers on the dice is a
prime number ?
(@ 1/6
(b) 172
(c) 173
(d 5/12
23. A truck driver, once in a week, leaves his
house and drives to the river dock to pick up
supplies. At 6:05 PM, one-fifth of the way to
the dock, he passes the Temple. At 6:15 PM,
one-third of the way, he passes the Dhaba.
At what time does he reach the dock ?
(a) 6:50PM
(b) 6:55PM
(¢) 7:00PM
(d) 7:05PM
ND - 2B/34
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(@)
(®)
(©)
@
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@
®)
(©
@

9:Q0:MP
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9:00:%82

€9 fgq A e ¢ fica oael I8 e
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(@
(®)
(©
@

o g'xl
o9 ol
Roo gwl
RRY o'wl

48 ¥R gAISA g9Ba gan e¥E aeq 6QId
2080 \Q° N2 YeF OQ R0 26T | 6061,
frRde uQ 6Rad, 9@ AAIRR gUoR

700 d@ 2ee |
(a) e90
(b) ero
(c) eco
@ 300

200 6eI 36 G2IRIeS | peRIgRen oa
dRl HIIQERa 6Ql8 9@ 6AlFe Qe

62919 ARIT 6960 7

(2)
(b)
(©)
@

e/o
/9
e/m
8/e9

@66l §Q SRR AR 26q aq QLA
PN IRP @RAAQ 6RQU QAIAG | Al 6
8 AR66Q, 9@ QEAILG QITEq Aaa 269d

Qa3 | A8 99| ¢86Q

» IR QO18I°¢ QITES,

6 @Il UG @08 | 6d cod anNG6R
60IQIA6Q aofee ?

(a)
(b)
(c)
(d)

Q@Y 9 61 8o
aail 9 61 88
@y 9.00
Qa4 9.08
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Sami decided to give Kachoris to her friends
on her Birthday. If she gives 3 Kachoris to
each friend, one friend will get only 1
Kachori. Also, if she gives 2 Kachoris to each
friends, she will be left with 13 Kachoris.
How many friends are there ?

@ 12

(b) 15

() 17

d) 16

The calendar for the year 2007 will be the
same for the year :

(@ 2014

(b) 2016

(c) 2017

(d) 2018

In Roman Number System, there are seven
symbols which are used to represent the
whole number system. The symbols and
their respective values are given below.
I=1, V=5, X=10, L=50, C=100, D=500,
M=1000 ; Then, the value of the numeral
MCDLXIV is :

1666
(b) 664
(c) 1464
d) 656

'+ 12 +13%+ . 4 209 =7
@ 2575 '

(b) 2485

(c) 2395

d) 2295

The price of 10 chairs is equal to that of 4
tables. The price of 15 chairs and 2 tables
together is Rs. 4000. The total price of 12
chairs and 3 tables is : :

(@) Rs. 3,500
(b) Rs. 3,750
(c) Rs.3,840
(d) Rs. 3,900

When Rahul was born, his father was 32
years older than his brother and his mother
was 25 years older than his sister. If Rahul’s
brother is 6 years older than him and his
mother is 3 years'younger than his father,
how old was Rahul’s sister when he was
born ?
(a)
(b)
(c)
(d

7 years
10 years
14 years

19 years

ND - 2B/34
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q2IGIoI0 06 6a Jeeie SBF 98 Q6
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(a) e9
) es
(c) e9
(d e2

9009 AGLIQ QYIEAER FIAGE 674 Sda
QUieRaq 22 AAIR Q89 7

(a) 9oey
(b) 9o
(c) 9o0e9
(d 9goer

calfIg aaa danea, QIS _deie g
Q19 dag Q°ayl geIRIg 9ORNY @aQl
dIRQ 990_24 | 92 ¥e° 6QAIRER AN
Ry Bgea QARG |

I=¢,V=8X=¢o, L=%80, C=Roo,
D=%00, M= goo0

0I'626m, A6yl MCDLXIV @ FJRY 6960 ?

(a) ¢999

(b) 99y

(c) eyoyw

(d 989

(e’ +09”+ e’ + ... +90") =7
(@) 9898

b) 9¥re

(c) 9nes

d 99¢c8

€08 600189 FRY ¥§ copra R Q2 QAR |
884’ 6dla 8 98 ogaa QA SRy
¥ooo 6QI 08R | 6069 ¢ 98 coaIn @ ng
RN AQIA Ry 6R6o ceo 7 .

(@ Msooggy
b M9%0 gy
() aryo ggy
(d <eoo gg

g?%% S291 6999 0I&' QI1al 9Ig QI0Ig

o0 2b- 3580 X9 AI'OIG Qagiolg 95
8 99 Q129G Qe QITOig 9
& Ao Qaicoig N @

IR, 6962 QIgac
04 6q60 Q%?? 49969, 0IC @ada

(a 99

(b) ceoqg
() re¥og
(d ecod
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A bird shooter was asked how many birds
he had in the bag. He replied that there were
all sparrows but six, all pigeons but six, and
all ducks but six. How many birds he had in
the bag inall ? )

(@ 9

(b) 18

(e) 27

(d) 36

In a family, each daughter has the same
number of brothers as she has sisters and
each son has twice as many sisters as he
has brothers. How many sons are there in
the family ?

(@ 2
() 3
(c) 4
@ 5
An error 2% ‘'in excess is made while
measuring the side of a square. The

percentage of error in the calculated area of
the square is :

@ 2%
(b) 2.02%
(c) 4%

(d) 4.04%

Two pipes A and B can fill a cistern in

37% minutes and 45 minutes respectively.

Both pipes are opened. The cistern will be
filled in just half an hour, if pipe B is turned
off after :

(a) 5Smin.
(b) 9 min.
(c) 10 min.

- (d) 15min.

A and B entered into partnership with capitals .
in the ratio 4 : 5. After 3 months, A

withdrew —é—th of his capital and B

withdrew -Lth of his capital. The gain at the
end of 10 months was Rs. 760. A’s share in
this profit is :

(a) Rs.330

(b) Rs. 360

(c) Rs.380

(d) Rs.430

(7)

30.

31.

32

33.

34.

QUIBER 6REVEEIT TA1 ARF 69IA peg Qe
SIeag ASRIINEAI | 63 984 cagq gy
“gEie QUO10 UM ANS AT 28], grd
QY010 2R QAT AIRI 2SE; 19° 82F Syglo
ey QA8 909 283 1”7 6069 Qyigen
QFQIG 6960 AB1 A6R 7

@@ ¢

®) er
(c) 92
d w2

6016 a@RIRER g6RIe TR, 6a606aIE
QIR, 6I6EEEIT QRS AT | 99° geoye
g2e, AAS YINIER FAJd Qadq! 2ad |
6069, JASIA6R 6RE6E PE 9T 28T ?

@ ¢
(b) @
() ¥
0 % 7

<@ oda i AIGQI AAGeR 9% AR §F
QAUEN | 6669 A6IR 698TR AITRIER goa
go4e 6760 629 ?

(a) 9%
(b) 9.09%
() ¥%
d) ¥.ow%

= L
905 aIRg A 9e° B 2Ig6¢1 °ﬂ9; fqe e

¥8 ARcea 9@ CIF gad e@aidise | gasa
Q0 IR 6SINIGIRI | 6969 Q60 AL T6a
dI9€ B § 9 QAIGEA FIg 22 Q4! AA6R
T @8 enInde |

(a) s@de
(b) ¢ @de
(c) eofide
d) esfde

ANQ°B, ¥ : 8 AR0I06Q Q& F694 @&
NG *GRE | M QI e, A OIS

~ €
@69 'g QG gRUILIQ FRERR2ER ¥9° B

. e :
ol feQdq Py Qe geMIgie aReengen | €o

fl9 68960 RIN 990 9| cRIRYMI | 4@
RINEA A @ NG 660 A2 ?

(@) oo e
(b) o e
() aroeg
d) ¥mogg
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35.  Two trains, one from Howrah to Patna and

the other from Patna to Howrah, start
simultaneously. After they meet, the trains
reach their destinations after 9 hours and 16
hours respectively. The ratio of their speeds
is:

(a) 2:3
(b) 4:3
(c) 6:7
d 9:16

The effective annual rate of interest
corresponding to a nominal rate of 6% per
annum payable half-yearly is :

(a) 6.06%
(b) 6.07%
1)  6.08%"
(d)  6.09%

The population of a town in the first year
increases by 10%, in the next year it
decreases by 10%. Once again in the third
year it increases by 10% and in the fourth

" year it decreases by 10%. If the present

population be 20000, then the population
after four years will be :

(@) 16902
(b) 19602
(c) 20692
@ - None of these :

Three unbiased coins are tossed. What is the
probability of getting at most two
heads ?

- 8.
(a)‘ 4
o L
®
-y
(c) 8
7
@ 3
39. In 100 m race, A covers the distance in 36
seconds, B in 45 seconds and C in 48
seconds. If same speed is maintained in a
race of 1600m, B will beat C in the said race
of 1600m by :
(a) 80 m
(b) 75m
(c) 100m
(d 8m
ND —2B/34

(8)

35.

36.

37.

38.

39.

@

gab 6gQ, 6QIE 2I6RIQ QIR 49° AGyy
QIGRIQ 6P IRIATER ORISR @qag |

Q0QQ AIBIG C2R T6Q 6SRYLR QKR ¢
@ql @ €9 a8l 96Q 6AAINE 98Agq
Qofea | 6069, 6QAINE 699K ARq)g

6960 ?

(a) 9:qM
(b) ¥:7
(c) 9:9
(d ¢:02

QJGQ D% QIR Q@e qaIR dRIQaIM,
ae9dQ 69a6QIaN, Qfe QLR GGPG@
629 ?

(a) 9.09%
(b). 9.09%
(c) .0or%
(d) 9.00%

gein odea 6615 9208 SRl €o% §f
QIead, a6l 94 12l eo% QAN | 4§
&6q, Q010 9deR 421 eo% 98 19° 6gd
odeq eo% 212 AINE | 9 QEAIRR PR
90,000 £, 6069 QIART TR FAA°E!I
6960 629 ?

(@) es¢o9
() ec09
(c) 90909
QU6AIS 6RNETT ged

GGG‘IS‘ fFasas fQ 9 Gagr | e
908 g9 QIR AR 6960 ?

il
(@) ¥
Q
() s
q
(©) '3
9
()] s

Roo {6Q 6AQER ‘A’ M9 cacagsq, ‘B’
¥4 696QIEQ 9Q° ‘C’ ¥ cUCQEER
209! 297 QA2AB | 97 evoo AR
671960 AAIFTT QRIgL eliang, 6069 ‘B’

89 €200 {ga 6Qlg6q, C @ 6a6e ACRER
aqig eae ?

(a) reo deq
(b) 938 dea
(¢) roofica
(d rsdea
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40. A sum of Rs. 10000 is borrowed at 8% per 40. Ql@‘ﬁ % @398 Q8 8aIN6sl ¢0,000 ggy
annum compounded annually, which is paid Qdl FAUIKIN, ARG G6R1T anie Qe @deq
back in three equal annual instalments. What 6Ua8 QAUAN | g0 98 0dne coeg 9
. is.the amount of each instalment ? (a) Y¥ecc.oy
(a) Rs. 4l9_9.04 (b) 9rromy
(b) Rs. 3880.34 (c) MCog.09
(c) Rs. 3905.06 (d vweromsg
" (@) Rs. 418035 41. 268 QAL 9@ FATQ 99 &.91. Qa9
41. A trader mixes 26 kg of rice at Rs. 20 per kg (Qemi O8I 90 G@I)AR 2R <@ GAFQ Mo
* with 30 kg of rice of other variety at Rs. 36 @.gl. SlaRy (Gequ dal NI 99') aaia
per kg and sells the mixture at Agag @eql dal Mo galea ¥F @as | 9IGa
Rs. 30 per kg. His profit percent is : AR goae GiGG EQQ;?
(a) No profit, no loss (a) n R, I
(b) 5% b 8%
(c) 8% () %
(d) 10% (d) . eox
. ; 42. @68 M3 FU1Q 6QI0Q TEER T FRAIRIG
A2, A man takes twice as long to row a distance 656 ana 3213, 6910a @QL@G dgea asie
against ?he strt?am as to row the same gael aéga a9l alig g9gd ang
d[s.tancﬂ !n the direction of th? Str?am. The GQQE“E”@ i GGGQ, oo 696 (ga QIQGQ)
ratio of the speffd of the boat (in still water) 49 £Q4IR 696Q GO 6R6Q ?
and the stream is : @ 9:¢
(a) 2:1 “ ®) ‘n:e'-
by 4l c) M:9
5 A @ ¥:a
@ 4:3 g - L
. 43. 60lIcN 9E6R 96 Gl B 6616 68dy
43. A scooter has 2 tyres and one Stepney (i.e. N (2eiiQ ageia % G191a) @27 | 9eeIe
a total of 3 tyres). Each tyre can run up to S191Q AR ¥ Ferifca adie CIRAIRR |
a maximum-of 5 km. What is the longest 6069, YEOA a0l 696@, AIRIg 36Q
distance, which can be covered by the. AGQA SAAINAIFD ?
scooter ? (@ #& 4
@ 5km ;B 9.8a.4.
(b) 7.5 km () eo@. 4.
(c) 10km - (d)  eosae eMadE ged
N f these . = = i
Wy e - 4. o%a G96a 6aITY QIA 648 @a% Al
44. 150 workers were engaged to finish a piece of e80 @4 gfie é,isg@@ 621026 | Goa
" work in a certain number of days. Four @R0Ig ¥ 96 §4e agade avem, go1d
i T L - E XKy Tk
workers dropped on the third day an . | @ Al QR0IQ g
It takes 8 more days to ﬁqish th_e work now. 9 g6i@ UPAUe qen | ¥Eaa A6 @g}
Find the riumber of days in which the work AR 9L UeAA @ r @@ QAa Ay
- was completed. o | GGGHG‘, 6960 Gpea @IF dam ?
(@ 20 days (@ 9o e
(b) 23 days B
(c) 25 days ) 984 )
(d) None of these - (d) <aeas 6elaad gee
ND - 2B/34 | (9) ( Turn over )

Join Us-

WtsApp/Call- 8596976190


https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

Download “Tech Of World” App

45. Tea worth Rs. 126 per kg and Rs. 135 per
kg are mixed with a third variety In the ratio
1:1:2. If the mixture is worth Rs. 15.3 pef
kg, the price of the third variety per kg will be :

(a) Rs. 169.50

(b) Rs. 170
(c) Rs. 17550
(d) Rs.180
Logical Reasoning

(Q46-48)In each of the following questions, there
are four groups of letters. Three of these are alike
in some way while one is different. Find the one
which is different.

- 46. (a) EDCBA
(b) ONMLK
(c) JIHGF
(d Xwvuy
/47. (a) AEDCB
(b) GKIH
(¢) MQPON
(d) PRSTQ
48. (a) KLM
(b) TUUW
() XYYZ
(d) OPPQ

(Q49-51)A sales representative plans to visiteach of

six companies M, N, P,Q,Rand § exactly once during

the course of one day. She is setting up her schedule

for the day according to the following conditions.
I ihe must visit M before N and before

(II)  She must visit N before Q.

(11D) "l'll’xe third company she visits must be

49, Which of the following could be the order in

which sales representative visits the six
companies ?

(@ MRN,Q,PS
(b) M,5,PN,R,Q
(¢c) PRRM,N,Q,S
(d PBS,MR,QN
50. Which of'th :
~"  sales reprcs:ngils:r;:%;:(;ﬂige true of the
(a)  Shevisits M thirg
(b)  She visits R sixth
(c) She visits P first
(d) ; She visits Q second

ND - 2B/34

(10)

Geql Gl €92 QI 49 @6l Ga ey

Ql aaua 1 € : R : 9 UPUGEQ gq
gqﬂ%@e gelgen AeIand | 9@ qgﬂg‘? L%
Geal Gal @ 891 61 4, 6969 §olg %ﬂ%
Geql Gel Ay 6R66 AL ?

(a) e9¢. 80 0@l

45.

¢90 '@l
(¢) ¢€98.80 ol
(d ere ol
9599 o¢

(Q 46-48) SRS geoIQ dgeR, UBQA oy
calgl B | MAIRG AuQ G6RIE 619d QI sqlgg
QaIgea QR 6RIRGIR! 696R 6SICN €] gg |
6AQ0 BRGI 26T QIR 68IPg |

46. (a) EDCBA

(b) ONMLK
(¢) JIHGF
(d Xwvuy
47. (a) AEDCB
(b) GKIH
(c) MQPON
(d) PRSTQ
48. (a) KLLM~
®b) TUUW'“—
() XYYZ x
d OPPQ

(Q 49-51) @68l QA GORY, 6918~ G@ FIeR, O]
268, 96 aftig1 M, N, P, Q, R 49° S 0Re€is aelg
SAIRRI Q0123 | HQGe Al AgaIa 6Q d9e ad
P9Q QU191 §a @ged |

(1)  6ANgLQ Y RYSq MaGieda oda
m@a?é b

gl) Q99 6a N g afiede ediel 2IeaiR
) €2 9Qede @q gl go1a Qe
62R8 P watigen

4% P9fee auq 6edd cad ga 6210010

6a9lea 99 9& & fQae
965 7 QA GOFY 28T Qaie1 ab

(@ M,R,N,Q,ps
(b) M,s,p,NR,Q
(©) PR M,N,Q,s
@ PS,MR,QN

50. Q@ i6 Sea g8d !
aaes ggq@s%?ggls%@?‘ gofye @
@)  6a M, go1a grca adade ¢as
®)  ear,8a geee adede ead
(€) 6 gaer P odede ead

62 Q, §o1a grca odade 948
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51.  Ifthe sales representative visits ‘S’ first,
which company must she visit second ?

@ M
() N
() P
d Q

(Q52-54)Select a suitable fi igure from the Answer
Figures that would replace the question mark (?).

D27

Problem Figures : Answer Figures :

P |1 | | f]eloe]

) ® .0 O 0 @ 6 O

(@ 1
(b) 2
() 3
d 4

Answer Figures :

T W

A B © M @OH @ B @
(@ 1 d
(b) 2
(c) 3
d) 4

24

Problem Figures : Answer Figures :

HEST] Eeee

A) B) © (D mn @ 6 @

@ |1
® 2
() 3
@ 4

35. A,B,C,D and E are five rivers.*A’ is smaller
than B but longer than ‘E’. “C” is the longest
and ‘D’ is a little smaller than B and a little

longer than A. Find the smallest river.

51. 29390 g0y gaesr Sadeds 963, 605
olg Q@m RA6Q 694 AR A9Ig ade 9

(@

() N

(c) P

@ Q
(Q52-54999 oe( ?) 260 089 599 19 aage
5Q 0aQ Qg |

52.
g9 9e: Q8a 9¢ :

£B o7 [8]Plodl P

A B ©€© O O @ G @
(@ 1
b 2
) 3
@ 4
' gﬂ 8q: a8 99 :
Ao -] [afe]eJ)
@a ® © O O @ 6 @
@ 1
b 2
) 3
() 4
54,
94 9g: eea 89 :

L EREERE

(A) B) (©) () m @ 3 @

@ 1
b 2
© 3
@ 4

55. A, B,C, D, 99 E Q5§ 991 | ‘A’, ‘B’ Ol
salfs"ceg E 01 AR | ‘C’ 6208 ALOIQ | m%
4@ ‘D’ ‘B’ OlQ §6@ 6819 ¥9° A'Olg 6@
QU | AFOIQ 6316 FATE B 7

WtsApp/Call- 8596976190

@ A @ A
®) B (k) B
© C ) C
- @ E
ND - 2B/34 | (1) Contd.

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190

Download “Tech Of World” App

i ark in
‘ 56~ What will come in place of question m

the series ? W

150 152 149 153 148 1

(a) 155
(b) 152
(c) 147

(d) 149
57-59)In each question below are g“;f:;ig;:

statements followed by two0 conc N
numbered I and I1. You have to take the given 2
statements to be true even if they seem to dethe'
variance from commonly known facts. Read
conclusion and then decide which of the given
conclusions logically follows from the two %l\f:!sﬂ
statements, disregarding commonly known Iacts.

Give answer :

" (a) If only conclusion I follows
(b) If only conclusion II follows
(c) If neither I nor II follows and

(d) If both I and II follow

}. Statements :
No women teacher can play.
Some women teachers are athletes.
- Conclusions :
I Male athletes can play.
II  Some athletes can play.

587 Statements :
All mangoes are golden in colour.
No golden-coloured things are cheap.
Conclusions :
I All mangoes are cheap.
IT Golden-coloured mangoes are not
cheap.

59 Statements :
Some kings are queens.
All queens are beautiful,
Conclusions : .
1 All kings are beautifi].
I All queens are kings.‘

60 lfillgnl.lc:'t:.he number of triangles in t'he given

(a 12
(b) 18
(c) 22
(d) 26

ND - 2B/34
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(12)

56.

36esa 94oe eonea @'9 aIde ¢
80 €89 eWC 08N ¥ €8y ?

(a) 88
(b) e89
(c) ¢e¥9
(d) ewc

(Q 57-59) 760 QI g6oIR ggeR 9ae I96
QUAINE 9 92 Q6q 9aC dNIe JuUIAILR QlQl
@ 1 49° [1Q°guIen 2@ | AITaF QUAIRYS! 9a5
Q98Q Q0 NER geq QA 06 496 6agee
QRIQNIVER VEIGEl QOIQ €A AR 24 |
dR190Qg 9° G J6R ARIQGEE SCIgEl Caig
2G62¢ll Q8 QuIAIRYQ aF 9 YUAIRYSI
dRI8gee AUQ 6RAC IS AIIER UPANE Q6Q
ol2l 3 @aq |

-57.

58.

59.

288 Gag :

(a) 9@ 6@ae dae [2pAad Q6Q

(b) €@ eqap AaIe Il APARE REQ

(c) @4 1@ Il 6Q16TT 2ARE @6Q
Q@

(d) 9% eea 19’ I 2gARd @88

898 e riel a0l 6xRaRee AF |
@8 agql daag! Algens, U3 |

aels :

| g IR FIER CHRAIRED

II @2 226AE 64RAIRE

396 : a9 2N aF god 2R |
67148 grl ara §7 @91 g62 |

@e1e :

[ Q9 A dal

I Qo 2R 69! g6&

@96 : 7 aiel Que1 268 |
QAFg Qe IeR UGS |

deis : ~

[ Q78 QIFl 9Ra 86a

I Qa9 Qe Qe

eea GuIAIRAS S8R, 6Q6060IC §@°
aa? :

A
AN

JAVAN

(@ 7
by er
€ 9%
@ 92
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Rita’s grades in four tests are 82, 80, 76 and

70. What grade must she get on the fifth test
to raise her average to 80 ?

(a) 86
(b) 88
() 92
(d) 96

My mother is twice as old as my brother. |

am five years younger than my brother but

three years older than my sister. If my sister

is twelve years of age, how old is my mother ?
() 24

(b) 30

(c) 40

(d) 50

In the following series, find the wrong
element :

17, 36, 53, 68, 83, 92
(a) 68
(b) 36
(c) 83
d) 92

Choose the alternative which closely
resembles the mirror image of the given
combination.

ANS43Q12
(@ AWSHEOTS
()~ SIOEFEUA
(). 2WAENOSE
(@ PSDMEAUZ

65~ Choose the figure which is different from

ND

—-2B/34

the rest.

1 @ & @

@@ |1
(b) 2
() 3
@ 4

(13)

61.

62.

63.

64.

65.

¥6 AQIBIER QIOIT 68Q 9, Mo, 99 8 9o
088 | 70q 6999 20I2IR M og 98 cdel aId
UEF ORIDIER BIF 6760 69 vl eaeiq ?
(a re

(b rr
(c) «9
d 2

6011 A1I'Q Q0Q &A1l QIR0IQ 9G4 | ¢ sal
QR0IQ QIERd AIR @9 6Al 9ae10ig 07 o
QP | 03 691l RAG1Q 9V €9 9F, 6069 661l
AI'e 904 6960 ?

(a) 9%
®) o0
(c) ¥o
(d 8o

FIAde girRIea, QA 2AININEY A9IQ
Qag ?

€9, Mo, 8M, O, re, ¢9

(@ or
b)
() r:
@ o9

698 JoF 90R @og il @EJIQIQ?LQI fAgeaa
adé 29 990 AR aIeea qelie 266 |

'ANS43Q12

(@ AvZhrEDrS
(®).  Sroer2uA

.(©)  2HAEMDST

(d) rsoscAne

9g 909 @ag, QiR UMARROIQ &R 26e |

aren|Q)|

M @ & @

(@ 1
(b) 2
(c) 3
d 4
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(Q66-70) Five roommates Rohan, Saleem, Tanmay,
Umesh, and Vikas each do only one housekeeping
task: mopping, sweeping, laundry, vacuuming, of
gu.ﬁing ;And only one day a week, Monday through
riday.
(i)  Vikas does not vacuum and does not
do his task on Tuesday.
(i)  Saleem does the dusting, and does not
do it on Monday or Friday.
(iii) The mopping is done on Thursday.
(iv) Tanmay does his task, which is not
vacuuming, on Wednesday.
(v)  The laundry is done on Friday, and
not by Umesh. -
(vi) Rohan does his task on Monday.

66 What task does Tanmay do on Wednesday ?
(a) vacuuming
(b) dusting
(c)  mopping

(d) sweeping
67.  What day does Umesh do his task ?

(a) Monday
(b)  Tuesday
(c)  Wednesday
(d) Thursday
‘_@; What task does Vikas do ?
, (a) ° Vacuuming
(b)  Mopping
(c) Sweeping
(d) Laundry
~69.  What.day is the vacuuming done ?
(a) Friday ‘
(b) Monday

(c)  Tuesday
(d). Wednesday

When does Saleem do the dusting ?
(a) Friday :

(b) Monday

(c) Tuesday

(d) Wednesday

79~

71.  Five polesare fixed in a row. M is on the Jeft

—  of N, O is on the right of P which is on the

right of N. If L is on the left of M. whi
pole is in the Centre ? , which

(@ L
® M
® N
@ O \2
. w5
ND - 2B/34 p>

(Q 66-70) QIELE ARAIA1, 6QILR, AR, 50,
Q6614 9Q° TQIE 6Q9R 661G 6L @
ARIELTE QIdY @QF : 6TIRQI, KIQ AKX, qa

| QIGQI, QUIQYA° QA YR KISAI; 99° YIRER EQ9q

6EIEN @R, 6AAQINY FRIQ FUER JERD 9
QI QT | ~
(i) & QUIQYF° *ERAIN N ATRAIR
e APa QIR Q] Q1L |
(i) QRAYR @A QI AR I9° ARG
aal geQa O/ 1@ faB QR 1 °
(i) €QeR & A QI AAUAN |
(iv) ©gQa QULIQ OIF QA 9QT, AR §
uIQuAC 9L | .
(v) Qe @8 QA QIS QIT FQIAN,
Qg Q6Age QIal g6% | )
(vi) 69I12@ 6QAALIQ CIF QI QAT |

66. QUAQ OPA §°6 QI [AT |

(@) QuIgyd°
b Y& «@l
(c) 6aIgel
(d <1g Gl
67. Q6AG 62 AR QIF QU QAT ?
(a) eaAQIRQ
(b) AR
(c) QuQIR
d) ggea
68. QI8 @@ QT QAT ?
(@) Qugydr
(b) eaIRl .
(c) «Q aigel
(d) Qo el
69. QYT e TR QQIArg ?
(@) 4gxe@
(b) saQIQ
{cg ATIIQ
d) Quel

70. QAN 6269 Y@ UGA Q16 9ad 2
(@) g<e@

(b) eI %
©) oo
d guaq »

71, ga@ﬂ UIGeR 88 ga aaigied | ‘M, N
aﬁmg Imng u”, ‘0’, ‘P’ @ Qielg aIgea
» A @ N’ @ QIoie Qigea 2@ | 90

‘I-_‘:; ‘M, Q Q|ﬂ Q| =
%6 con gq og p o O 6069 AA9T

(@ L
b M
() N
d o

! Tiiom st )
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7 If in a clock, time is 9:30, thep what time
will be in its reflection in g

front of it ? irror kept in
@ 330
(b) .2:30
() 930
d 615

}3, From the options given below, in which -

option, words are arranged according to the
alphabetical rule found in dictionary ?

1. Church 2. Chance 3. Celebrity
4. Cataract 5. Cement

(@ 4,532,

(WY 43521
s (C) 4’3’295:1
d 42351

(Q. 74-77) The following questions are
accompanied by three statements 1,2 and 3. You
have to determine which statement (s) is/ are
sufficient/necessary to answer the questions.

' J4. Find three positive consecutive even
numbers : :

1. The average of four consecutive
even number starting from the last
of the given numbers is 17.

2. The difference of the highest and
the lowest number is 4.

3. The sum of the squares of the
three numbers is 440.

(a) 1 alone is sufficient
(b) 1 and 2 are sufficient
(c) 3 is sufficient

(d) Either1or3is sufficient
75.  Rohit got 700 marks in the examinati?n. To
find out his percentage of marks which of
the following information is/are necessary/
sufficient-. -
1. Heappearedinall the nine papers.
2. The highest marks obtained is 90.
‘ 3. The maximum marks for each
paper is 100.
(a) Onlylis sufficient
b) Only 3 is sufficient )
Ec; Only 1 and 2 together are suﬂicx'ent
(d) Only 1 and 3 together ar sufficient

ND -2B/34
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1.

73.

Q% 6aIS afea QA ¢ : Mo coigei
oI'6R6M AIIER ASIANEY odaca o
goTRRER 660 QNG AP 7

(3 M:qMe
(b)) 9:%e
() ¢:Mo
d :¢8

Fqea FuIIRASl 9egqde auq, ced

Ja86Q, ARGRQ tRIRER fgaal 2ae Gaa

QI AIFe QAIAIRAT ? ”»

€. Church' 9. Chances 9. Celebrity
_¥. Cataract #. Cement

(@ ¥, 89,¢ w 19

by ¥,@m,8,9 ¢L—

¥, 9, 9,8, @
d % 9,78, ¢

(Q 74-77) BAde ggqde age GerIe é‘@@ e,
9 " 9 QBT | gggPea A8 699l AR 6
398 (q@e) Leag/aIRqye Qe ZIgdg FRIad

75.

QAP 9 |
74.

QIGS PERIT ARAIAR GY Y 526 @0g |
e,  QUDINYQ LHIGFRR €HaA°EHIQ
Ied @8 A8 ¥E e Q@

LIALIR €9 AT |
9.  Q6TIQ @ A9Fq CeeiIa QIR 620
o ¥l
qn.  Q6RIF aeia FdgFea Aga ceed
¥¥o |

(a) 6299 ¢C gsag
(b) e 499 Qeaq

(c) ngsaq

(d) e @ naeae

6QIBQ TRIFIER D00 FIE TIRYER | V1T

AIda goae eidial aId FgRde gerl AU
6QuE ZISsie/a6aa |

R, 69 978 QEF 60aQe TRIMIEA NG
6RRY6R |

9. Q6RIP AIS 6208 Co |

n. g6 caoe aid adiye AIF eoo
Q8g |

(a) 6999 ¢T geaa

(b) 699% % Qeae

(c) 6@ e we° 9 ¥RI0 G62d

(d) 6999 & ge° M IR0 LAY
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' il OoVES 76. R URQIRIQ 6RI0AIQ 9IIF CAIRINAS]
76. Tofind the length of the carpe AIRSIR A cHIRRI AR, FGRNE AU 694

1, which of the
the floor of a rectangular hall, w qoRl 2GR |

following information is needed ? &
l.g The length of the hall is 28m. . 6RO AR 9 ﬂf’Q 1
2. The width of the carpet is 2.5 m. 9. QISR G 9.8 AT !

3. The area of the hall is 490 Sq.m. N cIONIa 6IGER ¥Co QEAeR |

(2) Only 1 and 2 together are sufficient (a) eeeR ¢ ¥e° 9 IQI0 gsad
(b) Only 2 and 3 together are sufficient : (b) 6999 9 we° N 9QI0 a62e
(c) Only | and 3 together are sufficient (c) 6@ MM ﬂ@iﬁ geaa
(d)  Any two statements are sufficient _ (d) ecaead @alt I9a acad
77. What is the relative speed of two trains 77. 016 G96a SIRYUSI 9AE 68RR IEUFQ
. Tunning in opposite directions ? 690 660 7 ,
1. They take 15 seconds to cross e. gef ORING TR 6RAIP B 6A6RY
each other. & - a1 UG |
2. The speed of one of the trains is . 9. 606\ 667R 696 A4IgE Yo FeaIficn
60 Kmph. Qea |
3. The total length of the trains is N ged cgra AgQIB 6AIS 62dY Moo
(a) Onlisfaﬁ;i 2 together are sufficient o e \
(b) Only2and3 together are sufficient gg 2:::; : ::; :] j:::g gg::

(c) Only 1 and 3 together are sufficient =
(d) Any two statements together are (©) ~ 6@9@ € 99° 91 RI0 g6Ed
necessary (@ eaewlad gaf S9Q w0 egal .

@' Identify the figure that completes the pattern. 78. QI8 Qg @9l &e Se¢ Qg |

1) @ @) @

x) o Y P 0o
E:; ; @@ 1 |
i) 4 SR @ 4

}/ Look at this series :

V, VIH, XI, XIV, __, XX 79, eadig 48 QAR :

What number should fill the blank ? _ . V> VIL XI, XV, ......, XX
@ IX . - 690 9AQ6R HIF Qo g0¢ Q89 05 ?
(b) - XXIII : , (@ IX
(c) XV ' () XX
(& XVII . : () xv
80, Which word does NOT belong with the =~ (@ XVII
2 R S )
others ! X e 80. 629 608 2RvRIRGQ Gq 7
(@ ne Py (3) Inch
{0, ‘ ® Oun
(c) centimeter "
( d) y Erd (C) Centimetr
. @ vad
ND-2B/34 - (16)
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8}:  Choose the set of figures which’ follows the

81— gea fan agass QU AT cacn Qg

given rule. ’ g‘fm @ag |
Rule: Closed figures losing their sides and open Baq: 00 2190909 ea w@ aid 208 S
figures gaining their sides. GBIl EIFERYQ 799 9@ ai 2iea %aa |
- OOCYRYE '
U1 @; @) @)
@ @ ® © | |
‘ @

ool DA

. = o Ok
Q) WY
gL O
&+ :

W 2 '
c): 3 () 3
@ 4 d@ 4
Computer and Internet Awareness QHUCA B QLAERS, AR
82. A partitions a web browser 82, Q63 Seea Fealg faee
. window so that multiple web documents can @6a, QIR QA 9QR(Q 3] @QeAS
be displayed simultaneously. . 4QIQIgea gede semqaa@ !
E:% Fr:’.me ; _ ' - (@) 6gA
set : (b)) eQq
(c) Ffameset 3 : oy (c) 6anes.
@ dv : @ %

83. -controls all the main slide 83. ; REEQ UIAES
control ta_sks for your presentation in MS x R99I19Q! gﬁl Zéé,g l%l; ngfég $aad
PowerPoint. Qlﬂ‘lqeﬁ {0ad Q6 |
o) TN @ e

; gl QI
PR @ o
(@) eceae 69ladF ged
84. - What is the maximum numUer of columns 84. gl <, QIG'GQ
. gead QIAINAIQAI

that can be inserted in MS Word ?- gag@ea QQRiQ QY 6968 7
(@ 55 (a) . 88
(b) 65 ) 28
(c) 50 (C) §o

Help wiridow can be.opened 85. wfl. 44, Gedica 6eq §eal 69u ‘el

85. :”‘f;s Wik pep s (e % QALIAIER CHINASAIGR |

; :’) - (@) F2

. b)) F9
(b) F9 © Fl
E:; ;1 @ F11
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What is the shortcut key for “Find and
Replace” dialog box In MS WORD ?

(a) Ctrl+H

(b) Ctrl + Shift + F

(¢) Ctl+R

(d) Ctl+F

What shortcut key is used to split a table in
MS Word ? :

(a)  Ctrl + Shift + Enter

(b)  Alt+ Space + Enter

(¢) Ctrl+Alt+Enter

(d)  Alt+ Shift + Enter

What PowerPoint feature will you use to
apply motion effects to different objects of
aslide ?

(@) Slide Transition
(b)  Slide Design

(c) Animation Objects
(d) Animation Scheme

In MS Excel Long text can be broken down

. into many lines within a cell. You can do
- this through :

(a)  Wrap Text in Format > Cells

(b)  Justify in Edit > Cells

(¢)  Text Wrapping in Format > Cells
(d) Allofabove

Ctrl + D shortcut key'in Excel will :
(a)  Open the font dialog box

(b)  Apply double underline for the active
cell

(c) Fill down in the selection
(d) - None of above

Which menu option can be used to split
windows into two in Exce| ?

(a) Review > Window

(b) View> Window > Split
(c) Window > Split

(d) View> Split .

(18)

86.

87.

88.

89.

90.

91.

9Fl. 92, QPR “TIag 2Iq fegQ” ONRg
Q7 QIQ QTR Q1 @°4 ?

(a) Ctl+H
(b) Ctrl + Shift + F
(¢) Cul+R

. (d) Cul+F

qF. N9, GIF6R ¥R 669R FRIeR *A9ig
699 AFQE Q1 MR FAIAIN ?

(a) Ctrl + Shift + Enter

(b) Alt+ Space + Enter

(c)  Ctrl + Alt + Enter

(d)  Alt + Shift + Enter

4R 9IRQa F6e g6 6 geie geai

QAQIQ 2IQE 694 ARG 6T ARRIQ
R6Q ? _

(@) Qo gI&QR

b) <qeg éerg

() uRerag 26aq

d) uRenag &a

<] I I6TRER NA 66FEP IR 6QIE FRIER

YRR AVREA NS FQUAIRAISR | A&
42! 6QF ARIFER RRITES ?

(@) @Ig 663¢ ar adie > ¢agq
(b) 8T8 9 @6 > 6aQQ

(c) 6626 QAT AR Tl > 6aq
(d) eaeas Qg

«69Q 6 Ctrl + D Q6Q¢ @f @' 0@ ?

(a) a9 ONAG 9F cEIRe

(b) QEG 69R AR I USAAIRG geaus
efe

(c) ©9% 06R gRd Qa9

(d) @a6ae 6RET gew

169R G69I1909 90T QUd6a J09 éﬁ@lg

Q6 601p TQF IR AT ?

(a) @gy> Geal

(b) &g>Teal>ge

© Ge>qs

@ 9Gg9>de
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92. Wt-lich tool do you use to create a
object in MS-ACCESS ?

(a)  Database wizard

(b) Simple filter wizard
(c)  Simple query wizard
(d) Table query wizard

¢

query

93. The process of division of memory spaces
is called

(a) Paging

(b) Segmentation

(c¢) Bifurcation

(d) Dynamic Division

~94. OSI stands for )
() Open System Interconnection
(b) Operating System Interface .
(¢) Optical Service Implementation
. (d) Open Service Internet
95. HTTPis protocol.

(a) application layer
(b) transport layer
(c) network layer
(d) datalink layer

96~ Data communication system within a building

or campus is
(@ LAN
(b) WAN
() MAN
(d) PAN
97. A__ is a device that forwards

packets between networks by processing the
routing information included in the packet.

(a) bridge

(b) firewall

(é) router

.(d) hub
. The “S” in HTTPS stands for :

(a) Selected

(b)  Secure

(c) Software

(d) System

ND - 2B/34

92.

93.

94.

85,

96.

97.

98.

(19)

8. 9, N6IAR 1@ 6]A1 UWEH] q8
QOQIQ UGS 6RW VAYRE NRIQ FQG ?
(a) @Ie1699 Gord

(b) QnQ QR eI

() @R 68 Goid

(d) 669R 638 §oId

CrIEAIQT 6AQ6R VISR gFA
QeIAN |

(a) 6a&°

(b) 69666997
(c) <QIRTaseaq
d) ©eaFQ 68s

osiqudeead |
(@) 6eay daf AAREITT
(b) 2g6as° daf Aeacaq
() 2deR afiq anReneedq
d) 6eaQ Afa QIR6RE,

HTTP 6208 4@ sgieciaq |
(a) GERAR ERNARQ

(b) SIgeaIE 6REQ

(c) 699G 6AARQ

d) @IeA] RG]
~IR 6RI01 T QYA FRIER, SITT 6QGIEQAIT

QRllg QeI |
(a) LAN
(b) WAN
(©) MAN
d) PAN

. 6208 1@ PRI Q12| AYIERTER
USYS AAT" Jerl gRAIRRd QG 6REQIR
JoQ AUER QYIERE TQQIE 6R |

(@ 8=

b cegq

() @eeq

[ON b

HTTPS 6 “S” @ el 62a@ ?
(a) Qeneqe '

(b) Geouq

(c) aqgsgq

(d Qaq
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99.  What will happen if the email does not contain
the subject while sending ?
(a)  Mail will not be sent
(b)  Mail will be sent normally _
(c) Prompt asking to send mail without
subject
(d) None of these
100. In MODEMS : _
(a) several digital signals are multiplexed
(b) a digital signal changes some
characteristic of a carrier wave
(c) digital signal is amplified
(d) Allofthese :
101. How many bits are there in hexadecimal
code ?
(a) 16
() 0
() 2
d 4
102. is the functional key to display
save-as box.
(@) F5
(b) Fé6
(c) F9
(d) Fi2
Current Affairs
103. Who has written the book “The Light We
Carry” ?
(a) Barack Obama
(b) Michelle Obama )
(c)  Sashi Tharoor
(d) Amitabh Ghosh
104. Who is Mohamed Irfaan Alj ?
(a) President of Guyana
(b)  Prime Minister of Lebanon
(c)  Foreign Minister of Turkey
(d) Home Minister of Malaysia
105. Which district got “Best District Panchayat
Award” under National Panchayat Award
2023 ?
(a) Cuttack
(b) Murshidabad
(c). Ganjam
(d) Hyderabad
ND - 2B/34 (20)

99.

100.

101.

102.

103.

104.

105.

g8 QoIaql ARG REFANER TTG falg

6069 @°Q 629 ?

(a) 6AQ 6904 629 PR

(b) 6AR YNTIP NER 6JAE 629

(c) @aI39060 671 AOIRS §LI2 QARG
4Q gfE 69469

d) eo6aIs 6A1aaT p6v

6AICRRIER

(a) u6ae GRCIR daRIA AREYT cLIed

(b) 9 Gacip RN Y@ ALY TR
68 chdqy gleee Q6a

(c) @FeIR AARIRG UIFRTIR YRIAIN

(d) - egeqie A

62916030IN 6RIPEa 6960 T, 4T ?

“(a) e» :

b)) o

() 9

@ ¥

“6AQ -2’ 9§ YIde QAQIg 66

“TIQARIQ 917 IR FQUAN ?

(a) F5

(b) F6

(c) F9

(d Fi12
AR VSR

“@ ARG § 87 gee &9 6ndad ?

(a) QR G
(b) fean Gl
(c) <41 2agQ

(d) zfeq saim

AeRQ adie aq &9 ?
(@) a9 Qeod

(b) 6ARRIRA QuIRAA
(€) 991a 636039 aa1
(d) «qerdae geaat

@IB1D DEIOG AR 909N ZRINER 6Q8

o~

PP “6gd FqI QEIg0 gasla” fFd ?

(a) <@
b gqdeeie
(c) <=
d) <A

(Turn over)
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106. Odisha FC won Hero Super Cup in April
2023. Which team diq they defeat in final 2
(@)  Bengalury FC
(b)  North East United
(€)  Jamshedpur FC
(d)  Kerala Blasters

107. ll‘l r\'hich field has Damayanti Beshra
distinguished herself ?

(a)  Odishi Dance
(b)  Santhali literature
(¢) Odialiterature
(d) Classical music

108. President of Taiwan recently visited USA,
thereby upsetting China. What is the name
of Taiwan President ?

(a) Tsaing-wen
(b) MaYing-Jeou
(c) Chen Shui-Ban
(d) LeeTeng-Hui

109. Who was conferred Sahitya Akademi Award
for Santhali Literature for 2022 ?
(a) Shyam Sundar Besra
(b)  Kali Charan Hembram
(¢) Niranjan Hansdah
(d) Kajli Soren (Jagannath Soren)

110. Birthday of Netaji Subhash Chandra Bose is
observed as Parakram Diwas. His Birth day
fallson:

(a) 2lstJan
(b) 25thlJan
(c) 19thJan
(d) 23rd Jan

111.  As per data released by SIPRIin April 20?3,
what is the rank of India among countries
of world in military spending '

@ 6
® 4
@ 5
@ 8"
ND - 2B/34
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106.

1 107.

108.

109.

110.

1.

<da so9mea BHEl 9g. 4., 'éeQL qoe
QQ G0gAI | TIRNINER 6AAIER QW AR
QaIa QQgeR 7

(a) eeeNpq 9T @

(b) 9-9 GRINEER

(c) eIneaega 9T d

d) eeae qad

QAae1 69QAI 694 68960 Hea adea
Q8 @fad 7

(a) G@ar gel

(b)) <aR aRey

(c) GRal ARey

(d) <aa Ao

QREIP QIGES FacEq 2IeAaRI 619 qﬁagca,
Q12 919 2AZE QAR | FIRYIR AIFACE
Q0 4 ?

(a) ©1R-0-64Q

b) -eg-0a
(c) 697 94a-<Uq .
(d @eea-ga

9099 QIR ARIF AT AR VY ABGY

4QI6eA1 IR IR QAUAIRIARN ?
(@) &YIA gRa 694Ql

(b) QR 9 62A

(c) Qe L1QQl

d) - QLA 6Q6aR (SaRI8 6QI6QR)

ER0IR1 RIS OR CRIFSE SQEURE 9AI]A

9Q QIQER AIRR QAL | QIR @f dea

6969 ?

(@) 9¢ eIgaIal
(b) 98 SIgaR
(c) e¢ Qigai

() 9 eigual

9da 909M6a SIPRI QIR gRIGe Qo
AgAINT, ANER UFea Tga 6REAINE AEa
QUR0A AR Q'@ ? -

(a) @9

(b) ©g9d
(c) <B&n
(d) wzan

Contd.

WtsApp/Call- 8596976190


https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

113.

!}4.

115.

116.

" ND - 2B/34

| (c)

(e)

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190

Download “Tech Of World” App

Who wa.s sworn in as President of
Bangladesh in April 2023 2

(a)  Mohamad Shahabuddin Chhupu

(b)  Shirin Sharmin Chaudhary
Mohamad Abdul Hamid
(d)

Zilur Rehman

Recently 50 years of “basic structure
doctrine” by Supreme Court was celebrated
/ observed. In which case was this doctrine
laid down 50 years ago ?

(a)  Keshavananda Bharati case

(b)
(c)
(d)

Golaknath case
Minerva Mills case

Menaka Gandhi case

Where was country’s first water metro
inaugurated recently ?

(a) Kochi

(b)  Prayagraj

Delhi .

(d) Kolkata

Shri Prakash‘Singh Badal died on 25" April
after a distinguished career in politics. How
many times was he Chief Minister of
Punjab ?

(a) Twice

(b)  Thrice

(¢)
(d)
Which among the following countries is not
a Member of QUAD ? '

(a) USA.

(b)
(c)
(d)

4 times

5 times

India
Japan
South Korea

(22)

112. <R 909N 68 QIPRIELER RILAT QUvsy

113.

114.

115.

116.

a9 age ged Qaeem ?
(a) @R IRI9Ae 89
(b) @dg afg eslyal
(c) AeRQ Uega 2fQ
(d) &ge saeaR

Fecen 9da ealde Qo 69dQ 89Q 019’
Q 8o Qe AIRR/AGUIS FAUAIRARI |
g0 od g6 6@ AIAAIEa 9@ dale
QEIAIRER ?

(3) 6RE9IER AUNST AIARI

(b) eQIRQRRIE AIARI

(c) {erqa A aIrRl

d
FREER 6090 QAR GIER 6AGE!’ 68E0Ia
eeaife caIpgal ?

6ARAI QIF QIR

(a) 6@Id

(b) geaee
(c) @

d) eI

g1 g8 32 QIR aeedsq QRS
9@ Q891 aea ¥da 98 edysa fgyeas
QAR | 62 TBISR 6Q60 fa gsiaa
aem ?

(@ geeza
(b) &Slaa
(c) o@aa
d asaq

ﬁqg‘wﬁ@ g 629 62 ‘QIe’ @ geal
@ee ?

(a) @eads
(b) Qe
(c) eQg

(d) <84 exidzy
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discipline are on protest X 117. 986 Aug, 699 Sauga QIPIRQAIee

April 2023 alleging seiu?ljt?;t:srsmmar d 6dAINE Qg6Q 6dIR FAIORI N99° QG18

corruption in their federation ? WL g 2QEAIT IS YR 90 IT6R FBAFABEVICR

(a)  Wrestlin ' gos Spee

g -
e (a) g9

(b)  Weight lifting (b) @AY

(¢) Gymnastics (c) 80189

(d) Swimming ‘ (d) <sad

th _—

118 137 ICC men’s Cricket Wi i 118. 6QUIR-RERAR 909T6Q, S URLY
Ve 10 be hald o&f’rﬁcﬁ,“é’o(z‘%‘?ﬁ) is god Geas @4<a (9a4aI) 6960Iea 2980

(a) England ' 699 ? o

(b)  Australia 2 eeku

(c) India (c) «ee

(d)  South Africa : d) <feadel
119. Per capita income growth between 2011-12 119. 90€e-€9 @ 9099-9M AU6A KIALQ

to 2022-23 for India (CAGR) was 9.4%. qedal i AR (QeFag) ¢.¥% Rl |

During same period what was per capita . B Qa6 frIER GEdIea gEYal TiA ANYR

income growth in Odisha ? 6a6e aml ? '

(). % @ %"

(b) 9.5% b) 8%

() 10% - (c) ®o%

(d) 10.5% (d) eo.8%

120. During 2021-22 Indian Economy‘s growth 120. 909¢-99 60 QIRGIA AR1EQ FAQE 218
rate was estimated at 8.7%. What was the r.9% Q9 6QM JIYRE *AUIGYMI | 692

growth rate of Odisha Economy during the ' aAaea GFSl 2IR10R AGQE 2R 6Q6Q
same period ? . gal ?
(@) 8.5% ‘ 5 - @ rex
(b) 9.5% _ (b) ¢.8%
(c) 10.5% . (c) ro.8%
@ 115% d) ee.8% &
; ey uisiil
ation : W b s
' Dataie g (Q 121-124) FQEQ ‘QIa QIR AR A2
(Q121-124) Study the following bar chart carefully 20 209 19° X2Ia HA6a PUIBIREA 9geen
and answer the questions given below it. Qae Qg | i . _
Crude oil availability (tndia) (In million tonne) 768Ie 66% aaasel (auee) (Fge oqsa)
20 90
' 14 i3.93 © 141 144 15 . e¥ eqoqm QY. e¥.¥ es

15
10

5
CRerr-Te eorc-co eCCo-Ceecre-c9 eorg-oq
.92 1992-93 \

' 1938-89 1989-90 1990-91 1991 = 3 meQef M@ ANIN

M Production ©@ Imports R e 3
s . lian t . RCCR-C9 14RIER 2CAINe 60Ra QIR
21, Crude oil prodl;;tgl‘l"_‘gg"&,a";’fhon s (3G9 6969) 6960 CorRAAI 7 |
du)rmg S°4yeaf 83 . Eb’;
(a . o,
(b) 107 (e) ex.e
(c) !1;49.’1 @ r.e
@ 8
R siina (23) _ Contd.
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122, ‘What was the difference in crude oil imports
during 1990-91 and 1991-92 (In million

tonnes) ?
(a) 03
(b) 0.2
(c) 0.1

(d) No difference

1@- In which year, was the crude oil production

roughly 80% of the imports ?

(a) 1989-90
(b) 199091
(c) 199192
(d) 1992-93

32}, As compared to imports, what was the
percentage of crude oil production during

1988-89 ? -
() 45%
(b) 50%
(c) 55%
(d 60%

(Q125-129) Study the following table carefully and
answer the questions given below it.
Sugarcane production by six major states during
1986 to 1990 (in million tonnes)

Year /
States r Q R S T | X|TOTAL

122. QCCo-C€ e QUL R-CY FAUGA UsAINE
Boa Zifa @ QIR 6968 (RQe eqeR) ?

(@ o
®) o9
(c) o.®

@) 6qed QAR QI

123, 6ad Quca U6EING 6ORA AYIPR, TR
gRaIca gIa Mo% 629 ?

(a) eere-co
(b)) eeco-Ce
() ecce-9
(d) eew9-em

124, 2AQIR @RAIER, eLIT-IC 68 264D
600 @ RUIGR 90R¢! 660 &Rl 7

(a) ¥8%
(b) Bo%
c) 88%
(d) 0%

(Q 125-129) ARl AREIG AIRNINGIR A2 AUGR @0
S° 91 BY6R TUINIQER! 94PRen 6eR WBig |
QUM @ eC o FIRIEAR T gFs QUSY QIR 2AlIY
agiee (Fge €q6a)

Qd/
P - R
ot Q S| T| X|aqgea

1986 | 140 | 65 | 48 | 38| 39 [ 22[ 35

Rero|ey¥o | 28 | ¥ | 9 | <¢ | 99 MB9

1987 | 132 ] 63 | 62 | 56| 40) 23| 376

eErojeMmy | n | 99 89 9q| M9 -

1988 | | 55 1 72| 491 361 27| 389
1989 | 168 | 60 | 45| 65| 43 25| 406
1990 | 170 | 45 | 70 | 62 42| 23| 412

125 Which of the following states shows a
constant fall in sugarcane production every

year ?
(@ P
(b Q
.. () R

(d) None of these

126" In which year during the given period was
the percentage of state Q’s share the highest

in the total production ?
(@) 1986
(b) 1987
(c) 1988
@ 1989
ND - 2B/34

(24)

¥o
ee¢rriegso | 88 | 99 ¥¢ | 9| 99| ¢
eere|eor | o | ¥ 98 | ¥N| 98| ¥oI
eUCo|f90 | ¥8 | 90 99 ¥9
125. Gade quQ 69 QINea goed aIg
QQRER QUGS 21 CIHUAN ?
(@ P
/ Q
(c) R
(d)- a96ai8 6RadE ged

126. 261910891 od AUCR 6Qd @d, 6AIC
QQIINER QI ‘Q’ @ FOSTI QIe ATRE

g ?

(a) ecrs
(b) ecro
(c) eeorr
(d) ecre

( Turmn over)
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12]~ In which year does state ‘pr

o ¢ have a share of
?:)out 3159/;(;[' the total sugarcane production ?
(b) 1987
(c) 1988
() 1989

128. In the year 1990, how man i
s y of th
-}8 states have a share of 15% or mor: 1%1“;?12
total sugarcane production ?

. (@) Three
(b) Four
(c) Five
(d Al
129" What was the exte i i
production in stat;l t‘gf lfr:gl;af;g; stgg?;c;%ng
6 million tonnes

(b) 7 million tonnes
(c) 10 milliontonnes
(d) 12 million tonnes

(Q130-131) Study the following bar diagram
carefully and answer the questions given below it.

Loss due to strike of Textile workers in
Mumbai (Rupees in Crore).

200
150
100
50

155

Production Export Wages
~Loss due to———

i duction in
130. The ratio of losses due to pro !
> proportion to losses due to wages l.s ;

approximately equalto:

@ 2:1 '

(b) 11:2

d 7:5

& .1 loss in
13 Durin the s 5, i

is:

(@ 23:31

(b) 4:5

() 3:5

(d 12:11

(25)

127.

128.

129.

694l od, AQIA 2Ig AYIRRER QI P’ @
UG MBY% AT ?

(a) ecrs
(b) ecreo
(¢) eerr
(d ecre

20 Co A9RIER, 6AIT 2 AYILREQ,
QUARYR AINIYFR G 6REEEEIT QIR
QAT €8% @A O 0l TR ?

(a) OelF
(b) <@8
(c) s
(d  arg

RET9-RCCO ARUEA QIQY ‘S’ 6Q UG
QQISREA 6960 R 62IREE ?

(a) »Qgeeq
(b) Qg6 e
() o QgeeQ
(d) 9 @ge eQ

(Q 130-131) Rgadie ‘@q 9g’g AURIQ AL

-

WG QAP I9° I21A FY6a QAUAIRYS! gggéea
Qeq Qag |

Qenea eap gies udae caid 89 -

(61T eSI6Q) |

| 900

8o

08 -
%e8 .  eeo |

oo

411

) ;

aqQIee QgIF agel
e G0 BF ibernnel

130. QR €046 98 19 AR 6alg cRIRAS!

131.

@0Q 2gaIe YA 6960 ?

(a) 9:¢%
(b) R&:9
(c) 9:8
d 9%

ueae 21968 A9F 986 8% e eqIee
50 90 AUER ARAI 660 7

(@ 9TMMR

(b)) ¥:8

(c) q:8

@ e9:e¢

Contd.
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(Q132-134) In the followmg table, results of two -
schools A and B are given. On the basis of this
table, answer the following questions.

(@ 132-134) FAd6 QRaIEa gaE INIRA A
<@° B @ 9RIIe QUIQIRE | 1@ ARE ZRINES,
Ggnde gqqPen aea Seg |

School A School B ~ aQueaA . | «eueaB
Class | Appeared | Passed | Appeared | Passed egar | aom | @i aeal aiq
i in the exam ceQuER [62IQad| 69QYER| ERIAAT
XiL| 140 135 110 n Qe8| ew¥o | ems | €eo o
X1 160 150 n ‘105 JQea] ©90 tHo 77 €og
X i 160 110 80 rTal 77 e50 ego o
X | 130 n % 340 e T 77 o My 0
132. What percentage of students passed in both 132. Q90 IMNIFAER AL 6R60 g6ae 21911
the schools ? glq Qés@ ? ‘0
(a) 80.0 (@) Tro.o ,’;\\1 5
.;(b) 83.9 (b) roq.¢ e F
(c) 874 (© rox
(d) 90.0 d Cco.o
133. The total number of students who have 133. 9@ SRyRacR @47 6g4a16a AIq =Ita Ll
passed in class X in the two schools, is : AR BRI QG 6Q@6Q 7
(a) 310 (a) Meo
(b) 255 b) 988
Ac) 240 (c) 9¥%o
(d 155 (d es8
) The average of the students who have passed 134, GoUiea ‘A’ Q /e 8 @an egediea aiq
in classes IX and X from school ‘A’ is : Q029 2RIVIG 2I9VIQIT A°EYI 6960 ?
(@ 700 (a) 9o.0
(b) 1325 - (b) ems.8 el
(c) 1425 (c) e¥9.8
(d) 155.0 (d e88.0

(Q135-138) Study the data given below and answer
the following questions,
500 delegates in an international meet were
handed over cards like the following :

English EO
French F [
German G [l
Asiatic Language AO

languages in which they had sufficient skills.

Then the cards were collected and sorted
into plleS with the following numbers of
cards in each pile. -

Lugugui E| G| A|EATEG|EF | EAF [EGF
Ticked
Number 01 lssl 32015(70[ 81 84| a1 | 10
cards
There were' no GA or GEA, and every card
with F marked also had g,
ND - 2B/34

They were asked to tick the names of the

(26)

(Q 135-138) Blea SuIRYS o8y 2uaR @ag

" q@° Fgade Q'EIG_]_G'G‘Q 289 Gag |

4e 296i010 aFRRIEa soo gERNS
faohdie af QI goIe eRIAINARI |

QRS ‘EO
[ 628 : FOI
gdle : - 8]
Q1 QU AC]

699 VISR saflieEa geaq @@l Qeg
QRe f1a fQ *feig FRILIQYN | PIA6R
QI@QJ_'E;‘Q Q°ge QAU 9Q° Feadie Qe
QIG‘ AgQIA! S99 Q8 2agl 2Q4I 9QI6R

_ Qelieql |
eeraiee| g |G| A

EA| EG EF| EAF|EGF

eIB| M9 | e8| 90| IRITY¥| ¥R | €0

6Q0I66 616d GA @Al GEA 91 *gfl,
49° F G50 29! 9694@ @i06a E A gal |

(Turn over)
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133 How many delegates w

o oy D ere proficient in all 135. 6969 s:: ?géﬁma a8 SIEAIT WITIER
(@ 2 Qﬂm%
(®) 4 (z; ¥
() 1 :c) ¢
@ o @ ¢
136. Eht‘lpumbcr fﬂ' delegates proficient in both 136, SQIS1 6 678 QA RAER 0BEI 49l goRue
nglish and French s : Q°glyl 6QEQ 7
(@ 95 (a) ¢8
(b) 130 (b) Mo
(¢) 250 (c) 9%°
(d) 135 (d) 08
137. How many are proficient in only two 137. 6990 @00 AISIER MAGI 491 gEReR Qe
languages ? ' B
@ 170 W n,
(b) 235 Py 7"
() 250 , | o
(d) 190 by
a ol g9l gotNsa
138. The number of delegates proficient in only \u G?QQ it
_ QG| 6968 ?
one language is : (@) ¥8M
(a) 453 (b) emo
(b) 137 (c) Yoo
() 200 @ 989
d 212

. (Q 139-141) Aq@de ‘@R LIT'ZUNR |QZ I
(Q |39']4|) Study the fO"OWing bar dlagram and @qsa @?JI&]!Q&QI gaq@ga QAR Qﬂ@ |

answer the questions given below it. 558 codcatt Tien)
Additional Taxation (Rupees in Crores)

Feoo oe

in 1988-89 139, ecry-ré QRRIER Rerr-re¢ 6a agas

¢ in'additional taxes

S L“‘éé"m".!i?id to 1984-85 is : f‘:;%@;;iﬁ 8 618 7
(a) 54% (b) ¥.8%
(b) 4.5% (c) ¢8.9%
() 95.6% (d ¢€¢.9%
(d) 11.2%
( 27 ) Contd
ND - 2B/34

‘
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140. eerr-re¢ gegiea ecco- ce6a 28ag

s the
ooy fQa6a d0eel caee 914 cRIaR ?

140. As compared to 1988-89, wha

itional taxes 1f

: []);g:;x;t;l:g?e of decline in ?‘ddt | (a) 9.98%

(8 37.75% (b) 28.%

(b) 65.8% () 99.89%

(c) . 66.12% C(d) mer%

i i 141. g9 o8 gReIea 6ed @d, Uea9 Fadea

141. During which year the percent increase in qoael G'@ QQI%J_G? 6eIag ?

additional taxes compared to the previous (a) eero-rr

Jyear is highest ? 7 ®) eerr-re

(a) 1987-88

(b)  1988-89 (c) RCGReee

(¢) "1990-91 _ (d ecce-e?

W 199152 (Q 142-146) Aqsa QUGS ARETER R

(Q142-146) The table given below shows the adeleq ad Qdl ﬂig:él‘?;;:g;a Q?é@ﬂ%?ﬁwgtgg
percentages of the total population of a state by ‘QG‘GIG QdlQIeg | €
QuURIKERN 22'Q 26 gggeea aae Qe |

age groups for the year 1991. Study the table and
answer the questions 22 to 26 given below it. Q0d 9 geae
Age Group Percent e8 adis qo
Uptol5 30 €9-98 09.98
16 — 25 17.75 9.9-M8 R9.98
26 - 35 17.25 n9-¥8 eY.8
3645 14.5 ¥9-88 RY.98
46-55 14.25 e T
86 - 59 AL 99 99" Qla 0F6a e.eM
66 and above 1.13. aqem ryee
Total 100 : .

142. Ggea GIQQI@Q Q04d <d aQ 6ReGeR

142. Which one among the age groups listed QIFIO ATRIQ SRAEY 530 ?

below accounts for the maximum population

in the state ? . ) (@ e9-98
() 1625 (b) 99-m8
(b) . 2635 ‘ () no-¥8
(c) 3645 ~(d) 89-98
(AR o8-8 ' T 143, g0 ¥900 BT a1
: Q 99 odq @f egas
143. OQut of every 4200 persons, the number of Byl 6R6C QB 7
persons below 26 years is : ' (@) 9008 (aEia@) .
(Z) fgg; (approx) b) €990 (awad)
! Ec; 5 E:;’g:gg ) eceo (asiad)
AT d) erco(aisd)

-~ (d) 1890 (approx)
144. If, there are 200 million people below 36 144, Q@ M9 QQQ @ Qda 900 qu GQIQ‘

years,how maﬂy mllhon peo leare inthe a e asg 9| 6O6Q 89- -9
(&) UN : (@) Mo.09
(b) 1575 e
(c¢) 12.75 . 9.9-3.
(d) 5930 EZ; ;c.‘no
ND — 2B/34 s B
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145. Ifthere are 10 million People in the .
oo, he st o
in the age group 16-25 :rtlac} :lér-rg;e.l;ofpeople
(@) 6.8 million (approx) -

(b) 5.6 million (approx)
(c)  28.4million (approx)
(d)  34.7 million (approx)

146. If the d'ifference between the number of

[laft')]psle l.I'lllillhe aﬁe groups 46-55 and 26-35 is
-/5 million, then the tot i

Aty en the total population of the
(@) 400 million (approx) -
(b)  391.67 million (approx)
(¢) 360 million (approx)
(d) 460 million (approx)

(Q147-150) The following pie-chart shows the
sources of funds to be collected by the National
ngl]ways Authority of India (NHAT) for its Phase II

* Pprojects. Study the pie-chart and answers the
questions 27 to 30 that follow.

Sources of funds to be arranged by NHAI for
Phase 11 projects (in crores Rs.)

147. Near about 20% of the funds are to be

arranged through :
(a) SPVS

-(b)  External Assistance
(c)  Annuity

(d) Market Borrowing

148. If NHAI could receive a‘total of Rs. 9695
crores as Extern’a! Assistance, I?y what
percent (approximately) should it increase

the Market Borrowing to arrange for the
shortage of funds ? :

(a) 4.5%
(b) 7.5%
(c) 6%
@ 8% |
29
ND - 2B/34 : L
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145. €% 82 Q¥ @9 @’ 0Iq YR PAAGR €0
R90 6MIQ UST, 6069 €9-98 wQ° ¥9-
.88 Q¥ QUARHR 67T CRAIRE WY AIEq
QIR 660 ?

(a) o.r @ge (asaiF)
(b) 8.9 790 (AaF)
(c) 9r.¥ @ge (asaiF)
(d %.92 890 (awad)

- 146, @@ ¥9-88°8 99-M8 od egaeda crlee

Qel ARG AIdRY 00.98 BV, 696@
QLI AT PRA°EY 69607

(a) Yoo fge (asaid)

() Ne.99 Jge (Asaid)

(c) Mo Gge (asad)

(d) ¥20 dge (aad)
(Q 147-150) BeIRGG ‘QIa 916760 AIRGIE RIGIE
QR YRS (49. 9. 4. 2IR)a §ora adia
gee-aig 28 @RIAIRASI aide 02 dIIeg |
dI9-9I¢ BUAL Q9P 99 9eed 99 279 30 @
[0Q Gzg |

(uguguaIR) Go1a adua ges aId aIQla
eaIIeael A1Iga 2g (6915 ¢]I6Q)

147. Q9@ 90% ad, 696 Q2Q QIS RIS ?
i (a) QG849
(b)) 699FQ QOG
(c) <o Qi
(d <@ a4

148. @9 AR @ 6960FQ ARG RITER
QqgRI9 ¢ 208 6218 o fifaleq, 6069 AId
Q 29Ieg 99 QA9 A eI eI adg
6q60 goa0 (UsIaIF) 9& ode ?

(a) ¥.8%
(b) 9.8%
(c) %
d 1%
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149. The central angle corresponding 10 Market 149. QI Q& QTG AL 6QR1E 6RIE 6@6E ?7
Borrowing is : (a) 89°
(@) 52° b emo.r’
(b) 137.8° - =
(c) 187.2° il L
d) 1924° il e
150. The approximate ratio of the funds to be 150. 691w ﬁldf‘ﬁ;?_w Q{':,IQ il
arrangéd through Toll and that through QRGBS INA AR 2GS GIA 660 7
Market Borrowing is (approximately) : | @ 9:¢
(@ 2:9 W (b) e
(b) 1:6
© 36 (c) m:ee
d 9:8
@d 2:5

‘A
v‘/f/g)'r
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